arcsec

arcsec

2

A
COO0 0O = =

2](degrees)

o[m

V (km/s)

ESO 570-019

40

20

oM Ao OOMN M

100
50

-50
-100

140

120

100

80

60

40

20

-40 -20 0 20 40
arcsec
; | ‘ | | ‘ | | ‘ | | ‘ | :,
-40 -20 0 20 40
arcsec

T+
Jr

Jr

20 30
Radius (arcsec)

10

Vv
Vv

V3.6um
max
VHI

halo

0

5 10 15 20

Radius (arcsec)

25 30

8
o

arcsec

g

-40 -20 0 20 40
arcsec

i h= 22"

h= 27"

h,= 10.8"

\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\\\%

0 10 20 30

Radius (arcsec)

40 50

0 10 20 30 40 50
Radius (arcsec)

Q: . A

FQp & - FYIE

anlo—corr . Az(rbar) S

rg;:)lo—corr . ATaX s

Qperony - Vi, @ 49.47 Jd km/s

rgeg—only : rg"gﬁm : 15.75, 45

(Qbar—only)halo—corr .
b = maas

( bar-only)halo-corr .

l'ap

Qi{foay) © -

Q[;_alo—corr( rbar) -

€.

Vieum(Rop) & 41.77 22 km/s
drVseum(0) 1 129.87 25 km/s/kpc
M/M. (<R, 1 7.21

a: 2.4Kkpc

V_: 125.1 km/s

_QT

Qhalo-corr

T

\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\%

0.30 F
0.4}
0.23 I
10.15 i
0.3
10.08
000% & 0.2
-0.08
-0.15 0.1 :
-0.23
-0.30 0.0
04
0.3
-
C 02!
0.1"
0.0

\\\\\\\\\‘\\\\\\\\\‘\\\\\\\ IS e s e Y

0 10 20 30

Radius (arcsec)

40



